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Task 3 Individual questions

Answer as many of the following questions as you can.

You have 30 minutes to complete this task.
1. Which failed first, the backup SRI or the active SRI? (1)

2. The cause of the accident could have been a lightning strike. True or false? (1)

3. Which nozzles swivelled into the extreme position first, those on the engine or those on the boosters? (1)

4. What triggered the self-destruction of the launcher? (2)

5. Why was the active SRI of particular interest? (2)

6. What does the SRI measure? (2)

7. Why is the Inertial Reference System called an SRI and not an IRS? (1)

8. What is the function of the “strap-down inertial platform, with laser gyros and accelerometers”? (2)

9. Why are there two SRIs? (2)

10. What’s the difference between the two SRIs? (2)

11. What controls the nozzles of the solid boosters and the Vulcain engine? (1)

12. What caused the nozzles to swivel into the extreme position? (2)

13. When SRI 2 failed why couldn’t the OCB switch to SRI 1? (2)

14. What caused the SRI software exception? (2)

15. Did the software module in which the exception occurred have to be running at the time of the failure? (2)

16. Why did this software exception never occur on Ariane 4? (2)

17. Why were some of the variables that could give rise to exceptions left unprotected? (2)

18. The board concluded that it was a good idea for the SRI processor to be shut down in the event of a software exception. True or False? (1)

19. Why could the SRI processor not be restarted after it had been shut down? (1)

20. Why was the alignment software kept running after take-off? Was this necessary on Ariane 5? (3)

21. Which is better: to assume that software is working correctly until it is shown to be at fault or to assume that software is faulty until it is shown to be correct? (2)

